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POPULATION STUDIES
PAPER —1II

Note : This paper contains fifty (50) multiple-choice questions, each question carrying

two (2) marks. Attempt all of them.

According to the 2001 census, the share of the population in the age group 0 - 14 in the
total population of India is closest to :

(A) 30 percent (B) 35 percent (C) 40 percent (D) 45 percent

Which one of the following is not matched correctly ?

(A) Dual recording system - Chandrasekaran Deming
Correction

(B) Construction of life tables - Reed Merrell tables

(C) Digit preference - Myer’s Index

(D) Logistic law of population - Chiang’s formula

Which one of the following sequences is in correct ascending order of birth rate according
to the latest estimates from the Sample Registration System ?

(A) Kerala, Maharashtra, Orissa, Madhya Pradesh
(B) Kerala, Orissa, Maharashtra, Madhya Pradesh
(C) Kerala, Maharashtra, Madhya Pradesh, Orissa

(D) Kerala, Orissa, Madhya Pradesh, Maharashtra

Which one of the following is matched correctly ?

(A) Age-specific death rate for the age group x to x +n - nd,
(B) Person years lived beyond age x - T,/L
(C) Life expectancy at age x - L/1,
(D) Probability of death between age x and x+n - nq,
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STAHEAT AT
LEERCER | |
A : T TS | e (50) 9g-fahedia ue ¥ 1 Ue U % & (2) 3ok &1 el el o I
Hisy
2001 ! STOAT o TIER 0 - 14 & 3T S H1 9F Fdl SHGESA & gfaer &
THeheay o)
(A) 30 gfderd (B) 35 gfawrd (C) 40 gfderd (D) 45 gfaerd
Freafafea & forae faam o 78 €72
(A) &0 fefén yomeft - FEeRE SfHT R
(B) St dfetert st T= - e WA T
) fefoe fywim - A 3
(D) <ifafe® @f % 9o - Taist wejen

1 < T SAHAT AT TSRO YU Y STIHIAG et H | 3TRIE 9 H SiF |1 9 T 72
(A) A, HENTY, ISHI, HEA YT
(B) e, S, HEIE, HEA W
(C) ohd, HENIg, TEA UH, SS
(D) I, IS, AL T<¥, TRRTY

frafafed § § w1 @ faom @& 272

(A) g Tl Jg x | x +n AR & fag - nd,
(B) x od o TTSiiferd e del oAfh - T /I
(C) 3Mg x T Sitar Yo - L/l
(D) T x 3R x+n % o GG I GHEA - ng,
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5.  Assertion (A) : Population growth in urban areas is higher than that in rural areas.
Reason (R) : Natural increase in urban areas is positive.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)
(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false
(D) (A) is false but (R) is true
6. Arrange the following conferences in chronological order (from the earliest to the
latest) :
(i) Belgrade
(i) Bucharest
(iii) Cairo
(iv) Mexico city
(A) (), (i), (iii), (iv) (B) (), (iv), (i), (iii)
(©) () (i), (i), (iv) (D) (), (i), (i), (iii)
7.  The Whipple’s index is used to assess :
(A) Preference for terminal digits (B) Omission of dead children
(C) Degree of ageing of a population (D) Failure to make entries of zero
8.  Which one of the following is not correctly matched ?
(A) Theory of change and response - Davis
(B) Intermediate Variables - Davis - Blake
(C©) Quality - Quantity trade-off - Becker - Lewis
(D) Intergenerational Wealth Flows - Leibenstein
9.  Which one of the following is not correctly matched ?
(A) Demographic Transition - Notestein
(B)  Fertility Transition - McKewon
(C) Health Transition - Caldwell
(D) Epidemiologic Transition - Omran
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10.

11.

12.

13.

14.

The total number of Human Settlements (rural and urban) in India, as per the Census
2001, is approximately :

(A) 5.5 lakhs (B) 6.0 lakhs (C) 6.5 lakhs (D) 7.0 lakhs

In India, the maximum incidence of migration is observed in :
(A) Intra-district migration (B) Inter-district migration

(C) Inter-state migration (D) Inter-country migration

The average annual rate of growth of India’s population during 1991 - 2001 was closest
to:

(A) 1.7 percent (B) 1.9 percent (C) 2.1 percent (D) 2.3 percent

Which one of the following possesses dual recording system of vital events ?

(A) National Sample Survey (NSS)

(B) Census

(C) National Family Health Survey (NFHS)
(D) Sample Registration System (SRS)

Match the following arguments in population debates with the proponents :

(a) Growth of food production is arithmetic (i) Boserup
(b) Industrial reserve army of labour (i) Ehrlich
(c) Population pressures lead to innovations (iii) Malthus
(d) Population growth like a population bomb  (iv) Marx
(v) Davis

(A @ G @) G)
(B) @) (v) @ ()
(© @) @Gv) @ @)
(D) () (@v) @) (V)
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10.

11.

12.

13.

14.

2001 1 SUET & FTIR YR § ol HHG af&qdl ht G (UH0 9 ) e
g1

(A) 5.5 @ (B) 6.0 oG (C) 6.5 @ (D) 7.0 <&

frefafed § Q@ wRa &, TYaTEA STfuhas el e 8 2

(A) 31 el sTyam W (B)  STIfSTen STYSTE W
(C) ST STYarET T (D) ST ST T
¥ 1991 - 2001 F ERH YR &t SHEEN % FHd gig R % fisheam ot

(A) 1.7 gfaerd (B) 1.9 ¥fasrd (C) 2.1 yfaerd (D) 2.3 gfaerd

Frfafea o @ forad Sammar seisti i ggdt Rewfen yumedt (Sgsta Rewfen faweq) =
HHTORT Bl § 7

A) R Ut Hel (TLUETH.)

B) 9

C) A hitel 3o ¥e (TH.Uh. TH.T4.)
D) Yual g foen (TH.3IRTd.)

~—

(
(
(
(

SHEE &1 989 U ffaiad denl ol 3ok 919 9 fHemsw |

(a) T IR I fohE ST § () T

(b)  Hrenfie ford wergdl w6t o (i) wERferR

(c) SHE % TaE § T4 3G A § (iii) HTC™

(d) SFEE HI gfg SHEA 51 % 9HH § (iv) o

(v) Sfaw

(@ ((b) (© (@)

(A) (@) (@) () (i)

(B) @) (v) @ (i)

© @) @(v) @ ()

(D) (@) (v) () (v)
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15.

16.

17.

Match the diseases with the vectors/carriers associated :

Disease vector/carrier
(a) Dengue (i) Sandfly
(b) Typhus (i) Flea
(c) Plague (iii) Louse
(d) Kala - Azar (iv) Snail
(v) Mosquito

(A @O G @G @)
B v @O G) ()
© (v (@) @ @
(D) Gv) () @) (@)

Assertion (A) : Asia experienced rapid population growth during the second half of
the twentieth century.

Reason (R) : There was an impressive decline in mortality in Asia.

(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) : The sex - ratio (female per thousand male) of the population in the
age - group of 0 - 6 years has declined recently.

Reason (R) : There is selective outmigration of girls below the age of 6 years.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

J—1508 8
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R (i)

FHITITSR (iv) e
(v) H=T

(@ B (© @

@ @) () (i)

(v) (@ () (i)

(v) @) () (@)

(v) () (i) ()

16. SMMUSRIT (A) : THEN H Siwell ¥et & A0S | SHEE gig § daid T4 i & |
e (R) : e # gt H Rl R o1 |

(A) 3R (R) ST W2 € TR (R), (A) i H A 2|

(A) ¥R (R) 3 W ¥, T (R), (A) T T A T T
(A) HE 8, ifeT (R) T €

(A) TTEd B, ifehd (R) &l 1

17. ANIRAT (A): TAH 0-6 T4 & et § feivm 1 1o (Forat ufd ueh gk 2w Iht

iR T 81

SIUT (R) : 6 Y hi Mg | Y Y ! ARl 1 I AETIEEA (selective

outmigration) |
(A) 3R (R) T Tt € 3R (R), (A) T T =10 B
(A) 3R (R) SHi T& € T (R), (A) T TE =A@ T |
(A) & T AfFA (R) Terd )
(A) T § WfRT (R) HRT B
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18.

19.

20.

21.

22.

23.

In India, the recommended populations per primary health centre and per health
sub - centre in tribal or hilly areas are :

(A) 50,000 and 5,000 (B) 30,000 and 5,000
(C) 20,000 and 3,000 (D) 20,000 and 2,000

The number of metropolitan cities in India (as per the 2001 census) is placed at :

(A) 25 (B) 30 (C) 35 (D) 40

A goal of the National Population Policy 2000 is to achieve replacement level fertility
by the year :

(A) 2010 (B) 2015 (C) 2021 (D) 2045

The mean length of generation is given by the formula :

(A) In (9 (B) In[In(NRR)]/r (C) 1/NRR (D) 1/In (NRR)

If the expectation of life at birth is 73 years, then the expectation of life at age 60 must
be :

(A) Less than 13 years (B) Exactly 13 years
(C) At least 13 years (D) Cannot say

Match the following developments/techniques with the scientists :

(a) Regional model life tables (i) Brass

(b) Singulate mean age at marriage (ii) Hajnal

(c) Theory of stable population (iiiy Wale - Demeny

(d) P/F ratio method (iv) Lotka - Sharpe
(v)  Sheps

(@ B () @
A) (@) (@) (v) (1)
By () () (i) (v)
C @) @ @O (v)
D) (@) (i) (o) (i)

J—1508 10
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IRA | ST Ud geret &l B ufd wefies W@reed oy au S Sy hi K S
g:
(A) 50,000 3R 5,000 (B)

30,000 37 5,000

(C) 20,000 3R 3,000 (D) 20,000 3T 2,000

2001 T ST o STTER R4 | FEMRI &l @& fhat o . 2

(A) 25 (B) 30 (C) 35 (D) 40

T SFEE Hifd 2000 1 3T T T ST ol FITEATo &R ITH HT § |
(A) 2010 (B) 2015 (C) 2021 (D) 2045
ot Wit =6t ofrea o frt § 9 fove wnder () & Tt it €2

(A) In(r) (B) In [In(NRR)]/r (C) 1/NRR (D) 1/In (NRR)

g S o HHA 3T T YN 73 T9 T, T 60 i 3TF T YR =1 B! =1eT 2
ek 13 T4

ERENSIEEN

(A) 1399 § %A (B)
(C) w9 H FH13 U (D)

o <t T8 qehichl /TRt W Gelg dRenl 9 ez |

(a) TSI Aled AR® oied () o=

(b) TR TS T W (i) &STH

(c) <aRI 31 waa qrgeled (iii) STI-SHAT

d) /7w e dde (iv) <R wmd
(v) =

(@ B (© @
A) (@) (@) (v) (1)
By () (@) (1) (v)
(i) (i) (1) (v)
(iii) (i)  (iv) (i)
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24.

25.

26.

27.

28.

The growth of population after reaching replacement level is explained by the
phenomenon of :

(A) Population Momentum (B) Quasi - stable population

(C) Generalised stable population (D) Weak ergodicity

Which one of the formulae yields 109 ?
(A) 59x+59x+5 (B) (59x).(59x +5)

(C) 1—(1-5%).(1—59x+5) (D) (1-5%).(1—59x +5)

The correct sequence of states in ascending order of the sex ratio (females per 1000
males) of population in the 0 - 6 age group is :

A) Punjab, Haryana, Jammu and Kashmir, Himachal Pradesh

B

~—~

(

( Haryana, Punjab, Jammu and Kashmir, Himachal Pradesh
(C) Punjab, Haryana, Himachal Pradesh, Jammu and Kashmir
(

D) Haryana, Punjab, Himachal Pradesh, Jammu and Kashmir

According to Malthus, the positive checks on population growth are :
i)  Disease
ii) Starvation

(
(
(ili)y Celibacy
(A) (i), (ii) and (iii) are correct (B) Only (i) and (i) are correct
(

C) Only (i) and (iii) are correct (D) Only (ii) and (iii) are correct

A stable population becomes a stationary population if :
A) The intrinsic birth rate equals zero

B) The intrinsic death rate equals zero

C) The intrinsic birth rate equals the intrinsic death rate

D) The intrinsic birth and death rates remain constant for a long time

J—1508 12
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24.

25.

26.

27.

28.

Jfaeem (Reie) & WX q% Tga- & 918 e § gfg i =men I Heta
(M) § S 2

(A) SHEEN H T (HER) (B) Teertaq SHEA (FTH-Eee)

(C) wHHTehd feer SEE (D) fafee wiifefed

foFe wrel 9 109 9TH 2BAar T2

(A) 59x+59x+5 (B) (59x).(59x +5)

(C) 1-(1-59%).(1—59 +5) (D) (1-59%).(1—59% +5)

0 - 6 et H et o1 31gama (Wfa 1000 T&6 & forw fomt) Tai & Tt eTE B0 § S A e ?
(A) U, g, SH-sheHR, feure gaw
(B) BRamm, USTE, SH-heR, feum=a gew
(C) ST, g, fenm=ret Wevl, STH-hvHR
(D) @R, gSTe, fea=ra Wowl, - TR

Hedd & ATAR SHHEAT 6t Jig R T wisfea e f= § 9 oF 9 €2

(@) s
(i) et
(iii) ST
(A) (i), (if) 3R (iii) TE & (B) had (i) 3R (ii) T &
(C)  had (i) 3R (iii) T € (D) hae (if) 1R (iii) T &€

fEeR (stable) SFEEAT 3191 (stationary) 3 St € 4TS :

(A) 3T (intrinsic) ST YT o SRR Bl & |

(B) 3TaYd IR IS I o R B S ¢ |

(C) 3fayd SR 3fdyd TogeX o oeR Bt T

(D) HTHI-TS T Tk Afg FaHd e 2R TR T &t ¥

J—1508 13 P.T.O.
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29.

30.

31.

32.

A population pyramid with a bulge in the age range 10 - 24 indicates :
(A) A stable population (B) Recent decline in fertility

(C) Recent decline in mortality (D) A closed population

Match the following situations with populations :

Situation Population
(a) Very high natural fertility (i) Botswana
(b)  Recent rise in mortality (i) China
(c)  One - child campaign (iii) Hutterites
(d) Pro - natalist policy (iv) Thailand

(v) Russia
(@ B () @

(A) @) @@ G (v)

(B) @) () @ ()

© @) @ (v) (i)

A population growing at a constant rate of 1.4 percent per annum will double in
approximately :

(A) 28 years (B) 50 years (C) 70 years (D) 140 years

In computing the directly standardised death rate :
(A) The age distribution of a standard population is used
(B) The age - specific death rates of a standard population are used

(C) Both the age distribution and the age - specific death rates of a standard population
are used

(D) Both the age distribution of a standard population and a model life table are used

J—1508 14
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29.

30.

31.

32.

e % foufe # 10 - 24 % A & & § SuR fegam ©
(A) T FeeRr SHeeEn (B) S H A & H finree
(C) HIX H = & H firrere (D) T Had (closed) SHHYE

= ot feafaat = fafie SHeen & @y faesu |

Rerferar TAEET
(a) ST Fell ST ()  seEaE
(b) HIXH =B & H gl (i) ==
(c) T &= AFEH (i) ®3LH
(d) ST i (iv) oS
(v) &4

(A) @) @ 3@ (w)

®) @) @@ @ (@)

Q) @) @ (v (@)

D) @ (@) @) ()

1.4 yfawd FRa =nfier gfg =t ® & SEen | e oot | SEE g e
SRR |

(A) 28 (B) 50 (C) 70 (D) 140

TS JIe o WY ket | :

(A) I SHE T 7 e s e 7 |

(B) WM e i fofing $11g Jogat swHe 2 ¢ |

(C) M e i 317 foaror qen o1y fafern goger swwe 2 1

(D) W SHEA F1 7Y faawer 3R 1wl o1 ARl QM1 ol S&HTe ol © |
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33.

34.

35.

36.

37.

Model South in the Regional Model life tables is based on the experience of countries in
the region :

(A) South Asia (B) South America

(C) Southern Europe (D) Southern Hemisphere

Assertion (A) : Environmental pollution is increasing in metropolitan cities in India.
Reason (R) : The vehicular traffic has considerables increased in metropolitan cities.
(A) Both (A) and (R) are true and (R) is the correct explanation of (A)

(B) Both (A) and (R) are true but (R) is not the correct explanation of (A)

(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Development is a function of :

(A) Population growth, resources and environment only

(B) Population growth, resources, environment and technology
(C) Population growth, resources and technology

(D) Resources and technology

The number of biological diversity global Hotspots is :

(A) 20 (B) 25 (C) 30 (D) 35

Which one of the following is not matched correctly ?

Source Method
(A) Census Enumeration
(B) Civil Registration Reporting by designated registrars
(C) National Sample Survey Mail questionnaire

(D) National Family Health Survey Interviews by investigators
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33.

34.

35.

36.

37.

T et o oot H HIee WISy foh & 3 <9 o 1gud W i €2
(A) WY TR (B) =Y UG
(C) <faolt 3T (D) =feuft Metrs

AR (A) : TR o TR H TAERON YU &€ & © |

e (R) : TR § STeHl & SR ¥ eI | Il o6 T € |
(A) (A) 3R (R) T HE B (R), (A) T T AT T |

(B) (A) 3R (R) I T T (R), (A) T T =A&AT 7 2|

(C) (A) T €, W (R) TTerd T

(D) (A) 7ed €, WG (R) T ¥

forepma H YHH T

(A) SHEN gig, HHEE SR e 7 6
(B) SHEA gfg, HEEH, TATEX0 Ts oISt
(C) wHEEn gfg, HarEd ik Sararst

(D) HHHA TE SHrsit

qHect Sifas fafasr & g s #t Jen ¢
(A) 20 (B) 25 (C) 30 (D) 35

Trfafea o forae w& faam 787 foa T g2

& fafer
(A) SO TOAT (EIEE)
(B) Tafaet Wergem AHifeg TSR R Rdifén
(C) e Hua w4 Tk TR

(D) TS YNGR Weed Hae0  SFvehl gRI HIaTehR

J—1508 17 P.T.O.


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

AddaR247

38.

39.

40.

41.

42,

43.

The enumeration of population in Census of India is currently being carried out by :
A) Defacto Method
B

~—"

(
( Dejure Method

(C) Extended Dejure Method
(

D) Combination of Defacto and Dejure Method

. . . 0
Which one of the following does not yield e_, ?

(A) Teo/leo (B)  (Ts5+5Ls55)/lso
Q) (Ts5—5Ls5)/Igo (D) (Tes+5L60)/ I6o

The estimates of annual renewable Fresh Water available per capita at the global level
(in cubic meters) are :

(A) less than 2,500 cubic meters (B) 2,500 to 5,000 cubic meters
(C) 5,000 to 10,000 cubic meters (D) 10,000 and above cubic meters

The countries arranged in descending order of Carbon dioxide emission per capita
are :

A) Australia, Germany, Norway, United States
B) Germany, United States, Australia, Norway
C) United States, Norway, Germany, Australia

D) United States, Australia, Norway, Germany

The Male - Female gap in literacy rate in India in the Census year 2001 was
approximately :

(A) 08 percent (B) 18 percent (C) 28 percent (D) 38 percent

Work Participate rate (including main and marginal workers) of female population in
India (based on 2001 census) is nearly :

(A) 25 percent (B) 35 percent (C) 45 percent (D) 55 percent
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38.

39.

40.

41.

42.

43.

IRA T SFATUAT § ST % 0T Hisper 994 H frefated o % BRI ! ST @ T
(A) 2t F fafy/aega: fafy

(B) <t X fafu/fafea:

(C) fawaia €t s fafy

(D) <t TR SRt X fafy w1 wwf=a &9

e FasAw ego &l I ?

(A) Teo/leo (B)  (Ts5+5Ls5)/Igo
Q) (Tss—5Ls5)/Ieo (D) (Tes+5L60)/ 160

YHAUSEHTE TR R YA I st STet i aftieh WfH ot STIAIG |0 (HRfforsh WX #) ¥/ :
(A) 2,500 Hffareh HeX 9 A (B) 2,500 ¥ 5,000 FHforh HieX ek
(C) 5,000 § 10,000 Hfosk HeX T (D) 10,000 q1 f¥eh FAfereh HieX T

FHEATSEATRIES o st ki HABN (W hfyer) & feqrs § frfafaa w1 sredie w4
(descending order) H T |

(A)  sArEgforn, ST, 76, J.0E.T
(B) ST, J.UH.T,, STfera,
(C) FTHAT, 7, S, smefern
(D) I THN,, ST, 6, S

ARA § 99 2001 T ST H G- bl HI&RAT 1 T SRTH o
(A) 08 gfeer (B) 18 gfer (C) 28 gfeer (D) 38 gfder

2001 T SFITUAT o STTER Tl bl STETET ot Ml | Uiaaiiiar (& & i 96d) T
7l

(A) 25 9fderd (B) 35 gfderd (C) 45 9fqerd (D) 55 gfderd
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44.

45.

46.

47.

48.

The average age at marriage for Females in India (Census 2001) is in the range of :
(A) 15 to 16 years (B) 16 to 17 years
(C) 17 to 18 years (D) 18 to 19 years

The P/F ratio methods requires data on number of women tabulated by age and :

A) children ever born and births last year

B

~—"

(
( children ever born and children surviving
(C) children ever born by sex

(D) children ever born by ages of children

The correct order in which various approaches were introduced in the Indian Family
Planning Programme (beginning with the earliest approach) is :

A) Clinic, Cafeteria, Extension, Target

B

~—

(
( Clinic, Extension, Cafeteria, Target
(C) Clinic, Cafeteria, Target, Extension
(

D) Extension, Clinic, Cafeteria, Target

Assertion (A) : The 1976 National Population Policy of India recommended
abandonment of incentives to contraceptive acceptors.

Reason (R) : The Bucharest conference emphasised the strong link between
population and development.

A) Both (A) and (R) are correct and (R) is the correct explanation of (A)
B) Both (A) and (R) are correct but (R) is not the correct explanation of (A)
C) (A) is true but (R) is false

D) (A) is false but (R) is true

Which one of the following sequences gives countries in correct descending order of
fertility according to the latest estimates ?

(A) UK., US.A,, Ukraine, Italy (B) US.A., UK., Ukraine, Italy
(C) US.A, UK, Italy, Ukraine (D) UK., US.A, Italy, Ukraine
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44.

45.

46.

47.

48.

IRA T 2001 T SFITUAT o TER Fori &t oia foam &t 39 &1 o =1 o 9 &9 ot 872

(A) 159 16 T4 (B) 16917 =M

(C) 17918 = (D) 18919 =

qt./ T, SFgur fafy & faw sy & fewe 9 fodil 6t den i daiferet den Bl
STTITahdT Bl |

A) 4 T e o= S § ae frse o & 5= (I)

B) o1t qeh fTa s S qen ST | S o= T ¥ (9 gU E)
C) ofl dh o 9 a=d (T o T7ER)

D) i qe o S o= 3R ST Y

~—

(
(
(
(

R H IRaR i o fafis qle o1 T € 3% ST A § e (Ja¥ 98l o aich §

HE: 3TN :
(A) foafTh, FReRal, TeeeM, Trle
(B) foafer, TaadyM, SHthefan, erfe
(C) foafeh, iR, 2rle, ToIe=M
(D) Ty, foafeh, StRefa, erte

AMURAT (A) 1 1976 H WRA I TP SHEEA Hifd 7 7 FRh] 1 WHR FH o1l &
TeTT IcHT= < i Hifd sl STed ot HEfd |

e (R) : FEE THH 7 SHUEA Td fosi o dre =g ey T 9 fean|
(A) (A) 3R (R) ST T2 ¥ 3R (R), (A) T &I AR T

(B) (A) 3R (R) I @l € A (R), (A) T Tl =A@ & |

(C) (A) W&l & eifeh (R) TTerd €|

(D) (A) TR & Wifeh (R) Wl €|

TR STTAMI o STTER YTkl & fadre 9 == fau 7 <9 # b |1 37e-1e 9 T § 2
(A) A%, A TET, Tb, sl (B) ATEY, ., Th, Tl

(©) 4TETY, I, T, THA (D) 4., LUAY, T, THA
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49. Which one of the following is not correctly matched ?

Model of martial fertility
Model of age at first marriage
Model of open birth intervals

Model of closed birth intervals

50. A stable population always has :

J—1508

Constant birth rate
Constant death rate
Constant size

(i), (ii), (iii) are correct

only (i) and (iii) are correct

Coale - Trussell
Coale - McNeill
Srinivasan

Coale - Demeny

(B) only (i) and (ii) are correct

(D) only (ii) and (iii) are correct

-00o0-
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49. = fo@ o S fyem 98 78 22

(A) Wied itk Bfed wiefast HIc-2dd

(B) Hied ATh TS U2 e ARUS FIct-Heheta

(C) Wied 3ATh v 9o g=taed EIRCIEE]

(D) Wied 3ATh Five 99 sacH Hiei-feat

50. U e SHEE 1 60
() TR S T
(i) TR g A T
(iii) TR STHR TR

(A) (), (ii), (iii) =& €1 (B) o (i) 3 (ii) TR ¥
(C) Had (i) 3R (iii) T ¥ | (D) e (ii) 3R (iii) & T
-00o0-
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